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These questions are for use by Missouri State High School Activities Association members for conference competitions and independent tournaments. The Scholastic Bowl Company of Virginia, using tossups from Virginia High School League competition, writes them. 

There are 36 matches for this use. Each entity (conference or tournament) will be assigned matches for their competition. 

Users of these questions are allowed to distribute the rounds they have been assigned to the competing teams. Sharing these questions with teams not in that competition is not allowed but general discussion of the questions is permitted, as long as answers are not being shared. 
First period: 15 tossups
TOSSUP 1
LANGUAGE ARTS-Vocabulary

This word comes to us from the 18th century practice of social clubs having an anonymous ballot on whether to admit new members. Today, it describes any active or vengeful action designed to keep someone out of an organization, or to a general social ostracizing. What word gets its origin from a bowl with white marbles and dark marbles?

ANSWER: blackball
TOSSUP 2
FINE ARTS-Museums

This museum’s former curator, Marion True, is now on trial in Italy for stealing ancient art. Its namesake Villa re-opened in January 2006. Its artwork includes El Greco’s Christ on the Cross and Vincent van Gogh’s Irises. Named for the oil tycoon that endowed it, this is what museum in area of Los Angeles? 

ANSWER: J. Paul Getty Museum (accept Getty Center accept Getty Villa)

TOSSUP 3
MATH-Algebra

THIS IS A COMPUTATION QUESTION. What is the complex product of 7 plus 4i and 5 minus 3i, given that this is equal to combining terms in the expression 35 minus 21i plus 20i minus 12i squared?

ANSWER: 47 minus i
TOSSUP 4
SOCIAL STUDIES-US history

In May 1718, this pirate blockaded Charleston, South Carolina. North Carolina offered him official protection, so Virginia governor Alexander Spotswood sent two ships under Robert Maynard to defeat him. It took five shots and twenty stab wounds to kill this captain of the Queen Anne’s Revenge. What pirate was nicknamed for his facial hair? 

ANSWER: Black Beard or Edward Teach
TOSSUP 5
SCIENCE-Chemistry

For aluminum, it is 0.897 joules per gram per Kelvin; for copper, 0.385; for gold, 0.1291; and for liquid water, 4.1813.  Name this term that is the c in the thermal equation Q equals m times c times delta t, and is defined as the measure of the heat energy required to raise the temperature of one gram of a substance by one Kelvin.

ANSWER: specific heat
TOSSUP 6
LITERATURE-US literature

His study of Hindu literature is reflected in his essay, The Over-Soul. Phi Beta Kappa’s magazine is named for his speech, The American Scholar. He denied Jesus’ divinity in his 1838 Divinity School Address. Henry David Thoreau lived in his cabin to write Walden. Who discussed Beauty and Idealism in his essay, Nature? 

ANSWER: Ralph Waldo Emerson
TOSSUP 7
SCIENCE-Biology

Examples of this super-order are the goat, sheep, camel, horse, deer, hippopotamus, rhinoceros, and cow.  The order Artiodactyla (ar-tee-oh-DAK-tih-luh) contains the even-toed ones while the order Perissodactyla (pay-ris-soh-DAK-tih-luh) contains the odd-toed ones.  Name this group of mammals whose main characteristic is having hoofed feet.

ANSWER: ungulate(s) or Ungulata
TOSSUP 8
SOCIAL STUDIES-World history

Lord Carrington resigned as Foreign Secretary as the war started. As the war ended, Leopoldo Galtieri’s junta collapsed. It started with a flag raising on March 19, 1982, on South Georgia Island. The sinking of the General Belgrano and the HMS Sheffield occurred in what war between Argentina and the United Kingdom?

ANSWER: Falklands War or Malvinas War

TOSSUP 9
MISCELLANEOUS-Pop culture

This band’s 2006 feature film involved the protagonist receiving advice from a former lead singer of Black Sabbath and encountering Satan. Their first single was a song about ‘the greatest and best song in the world’ - a song known as ‘Tribute.’ What duo composed of Kyle Gass and Jack Black starred in The Pick of Destiny?

ANSWER: Tenacious D
TOSSUP 10
LITERATURE-Religion

Cherubim with swords that could shoot flame in all directions guarded it. Four rivers flowed from it: Gihon, Pishon, Hiddekel, and Euphrates. It had the Tree of Life in its middle, next to the Tree of Knowledge. What was the home of a nameless talking snake that beguiled its other two residents, Adam and Eve, into eating an apple? 

ANSWER: Garden of Eden
TOSSUP 11
MATH-Geometry

Twenty, 21, 29 is one of these, as well as nine, 40, 41. Other examples include eight, fifteen, seventeen and seven, 24, 25. The simplest are five, twelve, thirteen and the most basic example of three, four, five. Name this term for a set of three positive integers that form the sides of a right triangle.

ANSWER: Pythagorean triple
TOSSUP 12
SOCIAL STUDIES-Education

It was founded in 1983 by then-Los Angeles Police Chief Darryl Gates. A study in 1992 showed that going through it increased hallucinogen use. In 1998, the Justice Department concluded, it ‘does not work to reduce substance use.’ Black t-shirts are given out in what program where police officers visit schools to discourage drug use?

ANSWER: DARE or Drug Abuse Resistance Education
TOSSUP 13
LITERATURE-World literature

Abbotsford House in the Borders was his last house. He organized a visit of George IV to Scotland, whereupon many ancient clan tartans were created. He has Jeanie Deans walk from Edinburgh to London in Heart of Midlothian. What author of Rob Roy and Waverly created the characters of Rowena and Rebecca of York in Ivanhoe? 

ANSWER: Walter Scott
TOSSUP 14
SCIENCE-Physics

From the Latin for “to break into pieces”, it is the reason a rainbow pattern forms on a CD or DVD and it sets a limit on the resolution of a camera or telescope.  Augustin Fresnel used it for proof that light was a wave.  Name this phenomenon in which waves bend, spread, and interfere with each other when passing by a corner or through a hole.

ANSWER: diffraction
TOSSUP 15
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. In Roman numerals, what is XVII times XXI?

ANSWER: CCCLVII
Second period: 10 toss-ups with 4-part bonuses
TOSSUP 16
SCIENCE-Earth science

This period began around 300 million years ago, and saw the first appearance of ginkgos and a reduction in fern forests in favor of gymnosperms.  What geologic time period saw the initial breakup of Pangaea and the largest mass extinction in history, marking the beginning of the Mesozoic Era?

ANSWER: Permian Period

BONUS 16
LITERATURE-US literature

Name these works by Walt Whitman from clues.

A.
Abraham Lincoln has “Fallen cold and dead” in this poem.

ANSWER: O Captain! My Captain!

B.
In this long poem, Whitman “celebrates” and “sings of” the title character – that character being Whitman.

ANSWER: Song of Myself

C.
All twelve lines of this poem ask a question beginning with “Who” – led off by “Who has gone farthest?”

ANSWER: Excelsior

D.
Large numbers of Whitman’s poems were compiled in this work, begun in and 1855 and constantly revised. 

ANSWER: Leaves of Grass
TOSSUP 17
MATH-Geometry

It is the smallest number with exactly six divisors, counting itself. It is the third pentagonal number. In hexadecimal, it is represented by a ‘C.’ How many sides does a dodecagon have?

ANSWER: 12
BONUS 17
SOCIAL STUDIES-US history

Identify these Civil War generals.

A.
Don Carlos Buell helped this man win the battle of Shiloh.


ANSWER: Ulysses S. Grant
B.
He lost the Battle of Chancellorsville.


ANSWER: Joseph Hooker 

C.
He won the battle of Gettysburg.


ANSWER: George Meade
D.
He was unable to follow-up on his victory at Chickamauga, and had to resign after the disastrous loss of Chattanooga.


ANSWER: Braxton Bragg
TOSSUP 18
LITERATURE-Mythology

After stealing it, Thrym, the king of the frost-giants, demanded Freyja’s hand in marriage. Some tales say elves living at Yggdrasil’s roots made it, but most stories say Eitri (ay-tree) and Brokk made it at Loki’s behest. It always struck true, and when its user threw it, it returned. In Norse myth, what hammer belonged to the thunder-god Thor?

ANSWER: Mjolnir
BONUS 18
LANGUAGE ARTS-Foreign language

Given an English word and a language, translate the word into that language.

A.
Spanish, when.



ANSWER: cuando (KWAHN-doh)

B.
French, eighty.




ANSWER: quartre-vingts (kah-truh VAN) or huitante (wee-TAWNT)

C.
Spanish, nose.


ANSWER: (la) nariz (nah-REES)

D.
Latin, king. To make it easier, give in the singular nominative case. 


ANSWER: rex
TOSSUP 19
MISCELLANEOUS-Current events

California Congressman Pete Stark is the first in Congress to publicly announce being one. A September 2007 convention of them in Arlington featured authors Christopher Hitchens and Richard Dawkins. The Veterans’ Administration’s headstone emblem for them is an atomic symbol with the nucleus replaced by the letter ‘A.’ What group’s members lack belief in any deity?

ANSWER: Atheism or Atheist(s) (Do not accept ‘Agnosticism’ or ‘Agnostics’)

BONUS 19
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. Consider the number 120. Now:

A.
What is its prime factorization?


ANSWER: 2, 2, 2, 3, 5
B.
120 is what percentage of 750?


ANSWER: 16 percent

C.
What is the number in octal notation?

ANSWER: 170
D.
What is the largest prime number after 120?

ANSWER: 127
TOSSUP 20
SOCIAL STUDIES-World history

They called themselves ‘Poor Fellow-Soldiers of Christ.’ But after an 1139 papal bull exempted them from all authority but the Pope, this monastic order began making money hand over lance. In 1314, Jacques de Molay, its last Grand Master, was burned at the stake. What knightly order engaged in an early form of banking?

ANSWER: Knights Templar (accept Templars)

BONUS 20
SCIENCE-Physics

Which physical quantity has the same units as the product of . . .

A. 
Mass times velocity?

ANSWER: (linear) momentum [do not accept “angular momentum”]

B. 
Acceleration times time?

ANSWER: velocity [accept speed]

C. 
Current times resistance?

ANSWER: voltage or electric potential [do not accept “electric field”]

D. 
Pressure times volume?

ANSWER: energy or work
TOSSUP 21
LITERATURE-US literature

This short story’s protagonist tells his wife, Helene, to smash his head and arm under a hydraulic press. Experiments with an ashtray and the family cat apparently perfected the disintegrator-reintegrator, but an insect with a white head proved otherwise. In what George Langelaan short story does Andre Delambre swap atoms with an insect? 

ANSWER: “The Fly”

BONUS 21
MATH-Algebra

Consider the polynomial x2 + 10x + 21. Now:

A.
Factor this polynomial into two binomials.


ANSWER: x + 3 and x + 7
B.
What is the discriminant of that polynomial?


ANSWER: 16
C.
Multiply this polynomial by the binomial x plus 1. 


ANSWER: x3 + 11x2 + 31x + 21
D.
Divide this polynomial by the binomial x minus 3. What is the remainder?


ANSWER: 60
TOSSUP 22
SCIENCE-Biology 

The aardwolf is a type of this carnivore, which also comes in brown, spotted, and striped varieties. The spotted type is a hunter, the aardwolf feeds on termites, and the striped and spotted types are scavengers. Although they look like dogs, they are more closely related to the mongoose. Name this animal known for its laughing.

ANSWER: hyena
BONUS 22
SOCIAL STUDIES-World history

Answer these questions about the Napoleonic Wars.

A.
What British general defeated Napoleon at Waterloo?


ANSWER: Arthur Wellesley, 1st Duke of Wellington (accept either Wellesley or Wellington)

B.
Where was Napoleon’s first exile?

ANSWER: Elba
C.
At what naval battle in 1805 did the British under Lord Nelson defeat the French fleet? 


ANSWER: Trafalgar
D.
On December 2, 1805, Napoleon destroyed a Russian and Austrian army at what battle?


ANSWER: Austerlitz
TOSSUP 23
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. What is the remainder when 17,293 is divided by 6?

ANSWER: 1
BONUS 23
SCIENCE-Biology 

The bacterial genus Clostridium [klahss-TRID-ee-um] is an important one.

A.
Bacteria in that genus give a "positive" result on this test for bacterial cell wall structure.

ANSWER:
Gram stain(ing) [accept variants; accept Gram-positive]

B.
Clostridium contains a bacterium responsible for this disease associated with improperly canned foods. The responsible toxin is also licensed for medical use.

ANSWER:
botulism [BOT-yoo-lism] [prompt on "Botox"]

C.
The bacterium C. perfringens [pur-FRIN-jenz] is responsible for this often fatal infection in which bacteria infect muscle tissue, killing the tissue and producing gas as a by-product.

ANSWER:
gas gangrene [accept myonecrosis]

D.
Clostridium also contains some beneficial organisms; Chaim Weizmann used them to ferment this three-carbon organic solvent with chemical formula C3H6O.

ANSWER:
acetone or (2-)propanone
TOSSUP 24
FINE ARTS-Classical music

He wrote variations on a theme by Handel, a theme by Joseph Haydn, and on Paganini. His original work included the cantata Rinaldo and the sacred work A German Requiem. Whose most familiar song, “Guten Abend, gute Nacht,” (goo-ten ah-bend goo-the nakt), is better known as his Lullaby? 

ANSWER: Johannes Brahms
BONUS 24
LITERATURE-Religion

Identify these Old Testament books.

A.
It’s the last book of the Old Testament.


ANSWER: Malachi
B.
Jeremiah is the traditional author of what book that mourns the loss of Jerusalem?


ANSWER: Lamentations
C.
In 2006, Pope Benedict said this book represents both the physical and spiritual side of love.


ANSWER: Song of Songs or Song of Solomon
D.
In the Hebrew Bible, the Book of Ezra is combined with what other book to form a single book?


ANSWER: Nehemiah

TOSSUP 25
SOCIAL STUDIES-Civics

This word’s origin is from how London policemen would alert other policemen and the public of a crime in progress. An internal one will notify someone higher up in an organization, while an external one will alert a lawyer or the media. President Bush has threatened to veto a proposed 2007 law protecting them. What name is given to someone that reports misconduct within an organization? 

ANSWER: whistleblower(s)

BONUS 25
MISCELLANEOUS-Agriculture

Answer the following about farm equipment given a small description.

A. 
This machine gives the finished hay its shape.


ANSWER: Baler
B. 
This machine handles the harvesting, threshing, and cleaning of grain crops.


ANSWER: Combine Harvester

C. 
This machine applies herbicides, pesticides or fertilizers to field crops.


ANSWER: Sprayer
D. 
This machine plants the crops in the soil.


ANSWER: Seed Drill

HALFTIME
Third period: 15 toss-ups
TOSSUP 26
LANGUAGE ARTS-Foreign language

The Spanish verb amarías (ah-mah-REE-ahs) is what tense of the verb amar (ah-MAR)?
ANSWER: simple conditional or postpreterit
TOSSUP 27
MATH-Algebra

THIS IS A COMPUTATION QUESTION. Where are the vertices of the hyperbola x squared over 49 minus y squared over 64 equals 1?

ANSWER: (7, 0) and (-7, 0) (either order is acceptable)

TOSSUP 28
SCIENCE-Men of science

He was the first to notice that “equal volumes of gases, at the same temperature and pressure, contain the same number of molecules,” a statement that is his law. The German Jan Loschmidt calculated the number now associated with him. What Italian chemist is associated with the number 6.02 times 10 to the 23rd power? 

ANSWER: Amedeo (ah-may-DAY-oh) Avogadro (ah-voh-GAH-droh)

TOSSUP 29
LITERATURE-World literature

At the end of this play, Frederick decides the religious life is for him, and restores his brother as Duke. It contains Jaques’ ‘All the world’s a stage’ monologue. Hymen presides over the marriages: Silvius and Phebe, Touchstone and Audrey, Celia and Oliver, and Orlando and Rosalind. What Shakespeare play is in the forest of Arden?

ANSWER: As You Like It
TOSSUP 30
SCIENCE-Biology

In the 19th century, it killed several members of the Japanese imperial family.  It comes in bacterial, viral, and fungal form.  Symptoms of it include fever, nausea, headache, and a stiff neck.  Name this disease that is the inflammation of the central nervous system’s protective membranes.

ANSWER: meningitis
TOSSUP 31
SOCIAL STUDIES-World history

This colony established permanent settlements at Three Saints Bay in 1784. The population never exceeded 800 Europeans, as the Europeans made the natives obtain pelts. It stopped being profitable in the 1830s, due to competition from the Hudson’s Bay Company. So, in 1867, the Russian tsar sold what territory to the United States? 

ANSWER: Russian Alaska
TOSSUP 32
LITERATURE-US literature

At the beginning of the story, we find that the title character doesn’t have to pay taxes in Jefferson. The title character buys some arsenic after her father’s death, but doesn’t commit suicide. Homer Barron’s long-dead corpse is found in Miss Grierson’s bed at the end of what William Faulkner short story? 

ANSWER: “A Rose for Emily”

TOSSUP 33
FINE ARTS-Audio

This opera is the first of the operas performed at the annual Bayreuth (buy-royth) Festival. A love triangle involving the title character, Erik the huntsman, and Senta the daughter of Daland the sailor is the focus of this opera. What opera by Richard Wagner is about the captain of a legendary ghostly ship from the Netherlands? 

ANSWER: Der fliegenda Holländer (flee-ghen-duh haw-len-der) or The Flying Dutchman
TOSSUP 34
MISCELLANEOUS-Agriculture

Despite its name, this breed of cattle was bred around Aberdeen, Scotland. They were called ‘freaks’ by cattlemen more used to longhorns, but by 1917 were established enough to exclude red animals. What leading breed of beef cattle are all black? 


ANSWER: Black Angus
TOSSUP 35
SOCIAL STUDIES-US history

This prison was co-ed until 1934, when women were moved to Tehachapi. Its real estate is worth close to $100 million. It is the current home of Richard Ramirez and Scott Peterson, and the former home of Stanley ‘Tookie’ Williams. Located in Marin County, what oldest California prison was the site of a 1969 Johnny Cash concert? 

ANSWER: San Quentin State Prison

TOSSUP 36
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. Convert the base 8 number 245 into a decimal number given that 5 times 1 is 5, 4 times 8 is 32, and 2 times 64 is 128.

ANSWER: 165
TOSSUP 37
SCIENCE-Earth science

This structure is rarely found in tectonically active areas, especially along the coasts of western North and South America.  It contains the largest percentage of benthic life but the lowest percentage of ocean floor, and often ends between 100 and 200 meters deep.  What structure, the seaward extension of a continent, drops off at its namesake break?

ANSWER: continental shelf
TOSSUP 38
LITERATURE-World literature

This play starts with God telling Death to bring the title character up to Heaven. The title character can’t convince Fellowship, Kindred, and Cousin to join him, and Beauty, Strength, Discretion, and Five Wits aren’t much good after death. Only Good Deeds accompanies the title character to Heaven in what 16th century morality play?

ANSWER: Everyman
TOSSUP 39
SOCIAL STUDIES-Geography

This city of nearly 8 million people is at the foot of the Elburz Mountains. It is the home of the Milad Tower and the Golestan Palace, which contains the Peacock Throne. In the 1950s and 1960s, other landmarks such as Toopkhaneh Square came down by the order of Mohammad Reza Shah. What is the capital of Iran?

ANSWER: Tehran, Iran

TOSSUP 40
MATH-Computer science

The 2002 version provided support for object oriented programming. However, no complier has been made that will allow the 2002 version to work with previous versions of this computer language, some of which date back over 45 years. Give the name of this computer programming language used mostly for business and finance.

ANSWER: Common Business Oriented Language or COBOL
Fourth period: 10 toss-ups with 4-part bonuses
TOSSUP 41
SCIENCE-Physics

The Sun sends over fifty trillion of them through the human body each second.  First postulated by Wolfgang Pauli, it got its name from Enrico Fermi.  Since this subatomic particle can oscillate between flavors, it is not massless.  Name this type of lepton whose flavors include tau, muon, and electron.

ANSWER: neutrino
BONUS 41
SOCIAL STUDIES-World history

Identify these ancient Egyptians.

A.
Who was the last ruler of an independent Egypt, committing suicide 30 BC?


ANSWER: Cleopatra
B.
The 20th Dynasty had nine rulers that shared a name with what ‘Great’ Pharaoh? 


ANSWER: Ramses or Ramesses
C.
Who was the Great Royal Wife of Akhenaten? 


ANSWER: Nefertiti
D.
What chancellor to Pharaoh Djoser designed the Step Pyramid at Saqqara? 


ANSWER: Imhotep
TOSSUP 42
LANGUAGE ARTS-Vocabulary

This word can refer to a run-down bar or nightclub, or to a sudden, sharp decline in stock prices. In sports, especially soccer, it can refer to overacting designed to draw a foul. While flying a plane, it refers to a rapid descent. What word usually describes an activity where someone jumps off a board into the water?

ANSWER: dive (accept word forms)

BONUS 42
LITERATURE-US literature

Given a work and the year that the work won the Pulitzer Prize in Fiction, name the author.

A.
1973; The Optimist’s Daughter
ANSWER: Eudora Welty
B.
1961; To Kill A Mockingbird

ANSWER: Harper Lee
C.
1976; Humboldt’s Gift

ANSWER: Saul Bellow
D.
1991; Rabbit at Rest


ANSWER: John Updike

TOSSUP 43
SOCIAL STUDIES-US history

Its first head was William C. Durant and it was later led by Alfred Sloan. It went intercontinental when it bought Vauxhall (vox-hall) in 1925, Adam Opel in 1929, and Holden in 1931. In the 1990s, it spun off parts maker Delphi and closed down Oldmobile. In 2007, Toyota surpassed what company as the largest auto maker in the world? 

ANSWER: General Motors or GM
BONUS 43
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. Consider the dice game of craps. Now, in lowest terms: 

A.
You lose if you roll a 2, 3, or 12 on the first roll. What is the chance of that?


ANSWER: 1/9
B.
You win if you roll a 7 or 11 on the first roll. What is the chance of that?


ANSWER: 2/9
C.
If you roll a 6 on the first roll, you have to roll a 6 again to win. You lose if you roll a 7 before you roll a 6. What is the odds of you winning? 


ANSWER: 5/11
D.
One of the dice is loaded so it always comes up a one. Now, what is the chance of you losing on the first roll?


ANSWER: 1/3
TOSSUP 44
MISCELLANEOUS-Classic pop culture

King Vidor was un-credited for directing its black and white scenes. During its filming, Buddy Ebsen nearly died from aluminum dust inhalation and had to be replaced, and Margaret Hamilton was burned severely. Bert Lahr, Jack Haley, Ray Bolger, Frank Morgan, and Judy Garland were the other cast members in what classic 1939 movie? 

ANSWER: The Wizard of Oz
BONUS 44
SCIENCE-Earth science

This term describes gases that, when they accumulate in the atmosphere, tend to promote warming of the Earth.

A. 
What is this ten-letter term?

ANSWER: greenhouse gases

B. 
By mass, what is the most common greenhouse gas in dry air?

ANSWER: carbon dioxide or  CO2
C. 
Greenhouse gases tend to absorb radiation in this band of the electromagnetic spectrum.

ANSWER: IR or infrared
D. 
Production of this class of greenhouse gases was targeted for elimination by the Montreal Protocol, because they also contribute to the destruction of the ozone layer.

ANSWER: CFCs or chlorofluorocarbons

TOSSUP 45
LITERATURE-World literature

As an artist, he illustrated an 1808 edition of Paradise Lost and died with illustrations for The Divine Comedy unfinished. He wrote The Marriage of Heaven and Hell. His poem ‘And did those feet in ancient time’ was set to music as the hymn ‘Jerusalem.’ What writer also wrote Songs of Innocence and Songs of Experience? 

ANSWER: William Blake
BONUS 45
MISCELLANEOUS-Current events

June 7th 2006 was one of the major victories for the US in the Iraq war. Answer the following about that day.

A. 
This man the leader of the main Iraqi insurgence was killed in an Air Raid.


ANSWER: Abu Musab Al-Zarqawi
B.
Al-Zarqawi was born in what nation to the west of Iraq? 


ANSWER: Jordan
C. 
Al-Zarqawi was the leader of this terrorist group.


ANSWER: Al-Qaeda in Iraq (prompt on ‘Al-Qaeda’)
D. 
He was killed near this Iraqi city along with 6 other people.


ANSWER: Baqubah
TOSSUP 46
MATH-Geometry

THIS IS A COMPUTATION QUESTION. How many radians are in an angle measuring 135 degrees, given that 180 degrees equals pi radians?

ANSWER: 3 pi over 4 radians or .75 pi radians
BONUS 46
SOCIAL STUDIES-Geography

Answer the following about a Metroplex. 

A.
All or nothing: what two cities form the Metroplex, at least in reference to Texas?


ANSWER: Dallas and Fort Worth
B.  
Behind Dallas and Fort worth this city is the 3rd largest in the metroplex and 49th largest in the United States.


ANSWER: Arlington
C. 
What university in Conference USA is located in Dallas?


ANSWER: Southern Methodist University or SMU
D. 
This airport was the first airport to serve the Metroplex and is located outside downtown Dallas.


ANSWER: Love Field

TOSSUP 47
SCIENCE-Chemistry 

THIS IS A COMPUTATION QUESTION. What is the molecular mass of carbon dioxide?

ANSWER: 44
BONUS 47
LITERATURE-World literature

Answer these questions by Scandinavian authors and their works.

A.
Nora leaves Torvald after eight years of marriage in this Henrik Ibsen play.

ANSWER: A Doll’s House

B.
Out of Africa is a work by this Danish author.

ANSWER: Isak Dinesen
C.
The Wonderful Adventures of Nils is a well-known work by this 1909 Nobel laureate from Sweden.

ANSWER: Selma Lagerlof

D.
In this Ibsen play, the title character’s last name is actually Tesman

ANSWER: Hedda Gabler

TOSSUP 48
SOCIAL STUDIES-World history

He won the battles of Baecula (buy-KOO-lah) and Ilipa (ee-LEE-pah) to remove the enemy from Spain. He defeated the Numidians by burning their camp. For his greatest triumph, he opened holes in his line to allow enemy war elephants through, avoiding a repeat of Cannae. Who won the Battle of Zama in 204 BC over Hannibal? 

ANSWER: Publius Cornelius Scipio Africanus
BONUS 48
SCIENCE-Biology

Which structure in the human body is divided into these segments or regions?

A.
Duodenum, jejunum, and ileum

ANSWER:
small intestine or small bowel [prompt on "intestine" or "bowel"]

B.
An outer cortex, an inner medulla [muh-DOO-luh], and a pelvis from which it drains

ANSWER:
kidney(s)

C.
An upper lobe, a lower lobe, and the lingula [LING-yoo-luh]

ANSWER:
left lung [prompt on "lungs"]

D.
The rectus femoris [fuh-MOR-iss], vastus lateralis [LAT-uh-RAA-liss], vastus medialis [MEE-dee-AL-iss], and vastus intermedius [in-tur-MEE-dee-uss]

ANSWER:
quadriceps femoris [accept quads]

TOSSUP 49
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. What is the mean of 33, 17, 46, and 64, given that the sum of the four-number sequence equals 160?

ANSWER: 40
BONUS 49
FINE ARTS-Classic cinema

Name these Oscar-winning films from 1939.

A.
Hattie McDaniel became the first African-American to win an acting Oscar in 

this film that also won Best Picture.

ANSWER: Gone With the Wind
B.
The Technicolor earned it a nomination for best visual effects, but it won 

an Oscar for a song in the sepia-tone sequence.

ANSWER: The Wizard of Oz
C.
John Wayne's breakout role as The Ringo Kid went un-nominated, but this 

John Ford Western still won two Oscars.

ANSWER: Stagecoach
D.
Gregg Toland won an Oscar for his cinematography in this adaption of a 

Bronte novel.

ANSWER: Wuthering Heights
TOSSUP 50
LITERATURE-US literature

This state is the setting of The Robber Bridegroom; A Time to Kill; Black Boy; Roll of Thunder, Hear My Cry; As I Lay Dying; and Light in August. What state was the home of the fictional town of Jefferson, the seat of Yoknapatawpha (yok-nah-pah-taw-fuh) County? 

ANSWER: Mississippi
BONUS 50
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. Consider the numbers 35 and 62. Now:

What is their product?




ANSWER: 2,170
Rounding to the nearest integer, what percentage is the smaller number of the larger number? 


ANSWER: 56 percent

What is their greatest common factor?


ANSWER: one
Finally, give any four of the prime numbers between 35 and 62.


ANSWER: (any four of) 37, 41, 43, 47, 53, 59, 61
END OF MATCH

Spare questions
TOSSUP 51
LANGUAGE ARTS-Grammar

This font was released in 1932 by the Monotype Corporation. Stanley Morrison developed it after criticizing a British newspaper for its poor print quality. Its ‘New’ variety is a licensed version made by the Linotype Corporation for Microsoft. What font has been replaced in Outlook and Word 2007 with Calibri? 

ANSWER: Times New Roman
BONUS 51
MISCELLANEOUS-Pop culture

Given a list of singles off of a Garth Brooks album name the original album.

A. 
Friends in Low Places, Unanswered Prayers, The Thunder Rolls


ANSWER: No Fences
B. 
Ain’t Goin’ Down, Callin’ Baton Rouge, Standing Outside the Fire


ANSWER: In Pieces 
C. 
The River, Papa loved Mama, Rodeo


ANSWER: Ropin’ the Wind
D. 
Longneck Bottle, In Another’s Eyes, Two Pina Coladas


ANSWER: Sevens
TOSSUP 52
FINE ARTS-Painting
In 1983, a set of Raphael’s tapestries made for this church were reassembled and displayed. The first mass was said here on August 9, 1483, and its construction was the work of Pope Sixtus IV. The site of papal conclaves is what building whose ceiling was designed by Michelangelo? 

ANSWER: Sistine Chapel

BONUS 52
MATH-Geometry

What are the perimeters of the following?

A.
A square of area 81 square feet.



Answer: 36 feet
B.
A rectangle of length 14 feet and area 168 square feet.  
Answer:  52 feet
C.
A square of area 72.25 square feet.



Answer: 34 feet
D.
A right triangle with legs 10 feet and 24 feet.


Answer: 60 feet
TOSSUP 53
SCIENCE-Biology

Its scientific name is Aesculus glabra (eye-SKOO-lus GLAH-brah). It produces brown nutlike seeds that contain tannic acid; a candy made by dipping peanut butter fudge in milk chocolate shares this name.  Name this state tree of Ohio that gives its nickname to The Ohio State University.

ANSWER: Ohio buckeye
BONUS 53
SOCIAL STUDIES-US history

Answer these questions about the 1970s. 

A.
What Democrat lost the 1972 Presidential election?


ANSWER: George McGovern
B.
In 1979, there was a partial meltdown at reactor 2 of what nuclear power plant in Pennsylvania? 


ANSWER: Three Mile Island
C.
The Symbionese Liberation Army kidnapped what journalism heiress in 1974?


ANSWER: Patricia ‘Patty’ Hearst
D.
What was the real name of the ‘Son of Sam’ killer?


ANSWER: David Richard Berkowitz 

TOSSUP 54
LITERATURE-US literature

In her novel The Minister’s Wooing, she examined the perceived contradiction within Calvinism. She set Dred: A Tale of the Great Dismal Swamp in Virginia, and published a researched-filled ‘Key’ to her most famous novel in 1853. Who created the characters of Eva St. Clair and Simon Legree in her novel, Uncle Tom’s Cabin? 

ANSWER: Harriet Beecher Stowe
BONUS 54
SCIENCE-Chemistry

Chemistry has been called the “science of change.”

A. 
This term describes properties, such as density, that do not change when the amount of a substance present changes.

ANSWER: intensive or intrinsic
B. 
This thermodynamic law says that the change in enthalpy depends only on the enthalpies of the reagents and the products, and not the path between them.

ANSWER: Hess' law

C. 
This term describes any pair of compounds in which the three-dimensional arrangement of atoms changes, but the chemical formula does not.

ANSWER: isomers [accept word forms; do not accept more specific answers]

D. 
In this type of chemical reaction, a substance is broken down into simpler compounds, such as the electrolysis of water into hydrogen and oxygen gas.

ANSWER: decomposition reaction [accept word forms]

TOSSUP 55
SOCIAL STUDIES-US history

After the 1837 murder of Elijah Lovejoy, he consecrated his life to the destruction of slavery. When he died in 1859, he declared, ‘the crimes of this guilty land will never be purged away but with blood.’ Who engineered the Pottawatomie Massacre in Kansas and briefly captured the federal arsenal at Harper’s Ferry? 

ANSWER: John Brown
BONUS 55
LANGUAGE ARTS-Vocabulary

Answer these questions about numbers. 

A.
Someone unfit for military service had what number fill the classification (BLANK)-F?


ANSWER: 4
B.
What number went with ‘skidoo’ in a phrase meaning, ‘leave quickly?’


ANSWER: 23
C.
What number, possibly a reference to a speakeasy entrance, means to refuse service to someone or to eject someone?

ANSWER: 86
D.
What number is used by neo-Nazis as code for ‘Heil Hitler?’ 


ANSWER: 88
TOSSUP 56
MISCELLANEOUS-Pop culture

He voiced Aqualad on Teen Titans and portrayed Gordie Lachance in the film Stand By Me, but has found a second calling as an author and blogger.  What actor released the autobiographical books Dancing Barefoot and Just a Geek, but is most notable for playing the role of Wesley Crusher on Star Trek the Next Generation?

ANSWER: Wil Wheaton
BONUS 56
LITERATURE-World literature

Name these Japanese authors from clues.

A.
This ancient Japanese author penned the world’s first novel, The Tale of Genji.

ANSWER: Murasaki Shikibu (either name)

B.
The Silent Cry and A Personal Matter are among the works by this 1994 Nobel laureate.

ANSWER: Kenzaburo Oe

C.
This Japanese author penned the Sea of Fertility tetralogy in the six years prior to his 1970 suicide.

ANSWER: Yukio Mishima, or Kimitake Hiraoka

D.
The Master of Go and Thousand Cranes are works by this Japanese author and 1968 Nobel laureate.


ANSWER: Yasunari Kawabata
TOSSUP 57
MATH-Arithmetic

THIS IS A COMPUTATION QUESTION. What is the reciprocal of .4 (point four)? 

ANSWER: 2.5 or 5/2 or two and one half
BONUS 57
FINE ARTS-Audio

All music, as they say, was once new.  Name these composers of "new" works.

A.
One of this Viennese composer's last works was the "New Pizzicato Polka," a 

sequel to a work he'd written with his brother.

ANSWER: Johann Strauss II (or Jr. or The Younger)

B.
His ninth symphony was subtitled "From the New World"

ANSWER: Antonin Dvorak
C.
This American iconoclast's most famous work is "Three Places in New England"

ANSWER: Charles Ives
D.
In addition to The Maple Leaf Rag, he also wrote a work called the "New 

Rag."

ANSWER: Scott Joplin
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